z:=READEXCEL (“D:\Users\Terry\Downloads\folder\data_.xlsx”, “Arkusz1!a3:a2469”)
y:=READEXCEL (“D:\Users\Terry\Downloads\folder\data_.xlsx”, “Arkusz1!b3:b2469")

InRect(Sl,Wl,m,y):: if (—Slgngl)/\(—ngngl)
return 1
else

H return 0

S51:=10 W1l:=15

Result:=||in_index 0
out_index <0
for index € 0.. last (a:)

if InRect (Sl W, x

index ’ yindew)

r_in —x
in_index index

Yy_in —
in_index index

n_index «—in_index+1
else

x_out —x
out_index index

y_out —
out_index index

out_index +— out_index+1

return [ TN | Y. ]

x_out y_out
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